IlepeyeHb OCHOBHBIX JI€TAJIEH H V3JI0B MAIIMHBI DJEKTPHIECKOI

nuingoBaabHoii yraosoii MIITY-0.8-01

Y1Bepxaao 16 | Bunt 4x14 (camopes) 3 32 | Ipyxwuna (8,3x13,3x0,6) 1
TexHu4ecKui AUPEKTOP 17 | Cratop B cbope 1 33 | llaii6a 6 cTomopHas 1
17.1 | cratop 1 34 | Kosbiio cronoproe @10 1
Anncenxos O.A. 17.2 | HAKOHEYHHK 2 35 | KommeHcaTop 1
“ o» 2013r. 17.3 | mapoccenb 2 36 | Koneco 3yduaroe Z=32 1
- 17.4 | npoBOJHUK BHIBOJAHOU 2 37 | Hogummnauk 6000 Z 1
Mos. HaumeHoBaHue K. 18 | BunT 4x60 (camopes) 2 (10x26x8)
1 | Kppimika 1 19 | nadparma 1 38 | Bunat M4x7 3
2 | Bunr 4x14 (camopes) 1 20 | Kommnencarop pesuHoBbiii | 1 39 | Kpennka pemykropa 1
3 | nyp cereBoit 1 21 | Hopmumauk 607 Z 1 40 | Illait6a 4 npyXuHHAs 1
2x0,75mm’, L=2m™ (7x19x6) 41 | Buar M4x14 4
4 | TpyOka 3aummrHas 1 22 | Brynka skopst 1 42 | lllnonka cerMeHTHas 1
5 | Bunr 4x14 (camopes) 2 23 | SIkops B cbope 1 (3x3,66x9)
6 | IlnacTuHa nprKUMHast 1 23.1 | sxops 1 43 | HInuagens 1
7 | Kopmyc anexrpoasurare- 1 23.2 | BeHTHIIATOD 1 44 | Bryaka 1
1151 B cOope 23.3 | xonbIio cTonoproe J 10 1 45 | T'aiika cnernuanpHas M14 1
7.1 | xopmyc 1 24 | Wtudr 3x4.8 1 46 | Buat M6x25 1
7.2 | oboiima 2 25 | Bunat M4x7 2 47 | Taiika crieransHast M6 1
7.3 | BTyIKa pe3pOoBast 2 26 | Hogmmnauk 6000 Z 1 48 | Koxyx 3amuTHBIH 1
8 | Hletka (5x8x11) 2 (10x26x8)
9 | Tlpobka-3armymka 2 27 | Illecrepus Z=12 1
10 | KnaBuina BeIKJIIOUATENS 1 28 | Illaii6a 8 npyxuHHas 1 I'1aBHBIN KOHCTPYKTOP
11 | Ilpyxwuna (8,9x65x0,8) 1 29 | Taiika M8 1 Ietpos B.I".
12 | PpIyar BBIKITIOUATEIIS 1 30 | Kopmyc pemykropa 1
13 | Kongencarop 0,22uF 1 B cOope
14 | Boikioyarens 1 30.1 | kopmyc 1 I'aHbIit TeXHOIOT
FB-23-5/2F 30.2 | Brynka 1 Kynpsimos JL.A.
15 | TlnacTuHA 3aIUTHAs 1 31 | Knonka ¢ukcaropa 1




